Electron configuration

= Name these elements = Answers

Ne] 3s23p>
Ar] 452347
Rn]7s’

m Chlorine
s Cobalt
= Francium




Electron configuration

Give the configuration Answers

= Sulfur = [Ne]3s23p?

= Yttrium = [Kr]4d15s2
=|lodine = [Kr]4d'°5s25p°




Stable Electron Configuration

= Noble gas electron configuration - p®

= 1s2 exception of Helium
m | he most stable elements - Noble Gases
s Noble gases are un-reactive

m All other elements share or transfer electrons
to reach pseudo Noble gas electron
configuration.




Periodic trends
Text reference chapter 14

= Atomic size
= lonic size
= lonization energy




Complete an internet search
find the following periodic trends

= Atomic size

= lonic size

= lonization energy
= Electronegativity
= Shielding effect




Atomic radii (size of atom)

= [ he size of atoms decreases across a
period.

= Each period Is larger than the period
above




Atomic radius decreases
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lonic size

= Metals lose electrons and decrease In size

= Nonmetals gain electrons and increase in
Size

= ['his Is not always obvious around group
IVA elements
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Atomic radii and 1onic radil comparison
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lonization energy

= [he energy required to remove an electron
from a neutral atom

a 7?7 Predict - which elements would have a
low Ionization energy? Why?

= 77 Predict - which elements would have a
high ionization energy? \Why?




lonization Energy
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Shielding effect

= Shielding Is constant across a period

= Shielding increases as you go down a
group, which is really adding an energy.
level




Electronegativity

» Electronegativity can be understood as
chemical property describing an-atom's
ability to attract and bind to electrons.
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Increasing
electronegativity

>

VAN

Increasing
electro-
negativity



